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A . Al 22| 661,237 645,192 16,045
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AT 22| 661,237 645,192 16,045
= 10,500 10,500 0
iy 650,737 634,692 16,045
OI2aeE N2 502,545 486,500 16,045
& 4,500 4,500 0
= 498,045 482,000 16,045
401 Al&ZHIZL L] 502,545 486,500 16,045
= 4,500 4,500 0
iy 498,045 482,000 16,045
01 Al&H| 501,045 485,000 16,045
OAARETAIE =7 SA 16,045 0 16,045
ol=E 22| 3,994,944 3,964,123 30,821
= 2,471,000 2,471,000 0
& 50,000 50,000 0
= 1,473,944 1,443,123 30,821
oAl Jb| 3,530,944 3,500,123 30,821
= 2,471,000 2,471,000 0
== 50,000 50,000 0
= 1,009,944 979,123 30,821
2, 2SKF sHE0ESot=E 8| 300 138,226 137,926
401 Al&ZHIZL L] 300 138,226 137,926
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StesSEsRAS=TAS 1,975,000 1,897,200 77,800
= 1,886,000 1,886,000 0
iy 89,000 11,200 77,800
401 AIEHIZL 20| 1,975,000 1,897,200 77,800
= 1,886,000 1,886,000 0
iy 89,000 11,200 77,800
01 Al&HI 1,685,000 1,607,200 77,800
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o 136,744 40,700 96,044
401 AIEHIZL 048I 342,744 246,700 96,044
= 190,000 190,000 0
& 16,000 16,000 0
= 136,744 40,700 96,044
01 Al&HI 342,744 246,700 96,044
O=2-2=k+ sHEDNSo+E ZHIAY
JE 342,744,000 342,744 246,700 96,044
= 190,000 190,000 0
& 16,000 16,000 0
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S+ 0rSot=X FHl 285,800 290,897 A5,097
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= 46,800 51,897 25,097
401 AlEHIZL 2| 285,800 290,897 25,097
= 220,000 220,000 0
= 19,000 19,000 0
= 46,800 51,897 25,097
01 Al&HI 280,800 265,897 14,903
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23 280,800,000 280,800 265,897 14,903
= 220,000 220,000 0
= 19,000 19,000 0
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02 2eldl 0 20,000 220,000
O=EX+ Ot=ct=E FHIAI 280 & 0 20,000 220,000
MHRPES(AGt-TAIEA) 15,217,854 15,371,129 A153,275
LHEHHKIZ 15,217,854 15,371,129 A 153,275
e ZIIUXR HE3 8,917,083 8,546,190 370,893
701 JIEte HEMES 8,917,083 8,546,190 370,893
03 SIIHSE3ANN=2EES 6,737,318 6,366,425 370,893
Oa2E Z2NETAY ZHIRES
28 4,677,273,000& 4,677,273 4,306,380 370,893
otk BIIEXNE ME= 6,300,771 6,824,939 AB24,168
701 JIEl HSEES 6,300,771 6,824,939 Ab24,168
03 BIIHSEHN=2EES 5,984,367 6,508,535 Ab24,168
Oot=E=31NETAMY ZHIRES
2& 5,866,827,000& 5,866,827 6,390,995 Ab24,168




